VCT.p

ELESA J& €& it

1 B A e Al

- BRERAEEPP)ERHRESE, ®WEA, Mlm, wEAELMtF
ER

- EREREEMHRCE, wiTREERE, TREAFER, #EL
(DM I2E 74mm) L B M AR IR S F X F.

- R e R, Tk, FHUNIKITISO4TE3H =,

FERENEANEHHEREAEMH AR T B IGH, EEEEAANE

MR, HTHEGARIBZSRITER, BEARTURBFEANE |
B, MEAEFALRGFRRER, SNFEX L, BELE, BERY
Pl gaE, ARTER, Z2URTFENEE S,

T
2
[ral

l _
m _
B U+3-'— il ——
D |2
——ingl | — —tiil}
b A REERRE, (FLEM3A 1K) - b
g & F Rt 24T 58
B = g

69821 | VCT25 p-M5x10 M5 10 7
69822 | VCT25 p-M5x16 M5 16 8
69823 | VCT25 pM5x20 M5 20 9
69831 | VCT.25 p-M6x10 25 19 13 8 M6 10 8
69832 | VCT25 p-M6x16 M6 16 9
69833 | VCT25 p-M6x20 M6 20 10
69834 | VCT.25 p-M6x30 M6 30 12
69851 | VCT.32 pM6x16 M6 16 13
69852 | VCT.32 p-M6x20 M6 20 14
69854 | VCT32 p-M6x30 - - . . M6 30 16
69861 | VCT32 p-M8x20 M8 20 18
69863 | VCT.32 p-M8x30 M8 30 21
69865 | VCT.32 p-M8x40 M8 40 24
69901 | VCT40 p-M6x20 M6 20 18
69903 | VCT40 p-M6x30 M6 30 20
69911 | VCT40 p-M8x16 40 - . - M8 16 23
69913 | VCT40 p-M8x25 M8 25 26
69915 | VCT40 p-M8x35 M8 35 28
69917 | VCTA40 p-M8x45 M8 45 32
69961 | VCT.50 p-M8x20 M8 20 28
69963 | VCT50 p-M8x30 M8 30 31
69965 | VCT50 p-M8x40 M8 40 33
69971 | VCT50 p-M10x20 50 32 19 14 M10 20 36
69973 | VCT50 p-M10x30 M10 30 41
69975 | VCT50 p-M10x40 M10 40 46
69977 | VCT.50 p-M10x50 M10 50 51
70021 | VCT63 p-M10x20 M10 20 54
70023 | VCT63 p-M10x30 M10 30 59
70025 | VCT63 p-M10x40 63 - - " M10 40 64
70027 | VCT63 pM10x50 M10 50 69
70032 | VCT63 p-M12x30 M12 30 67
70036 | VCT63 p-M12x50 M12 50 79
70083 | VCT74 p-M12x30 M12 30 86
70085 | VCT74 pM12x50 M12 50 08
70087 | VCT.74 p-M12x70 4 43.5 26 24 M12 70 110
70095 | VCT 74 p-M14x50 M14 50 106

| “ELESA” and “GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source



